CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #3F CLIFF DRIVE SANITARY SEWER EXTENSION PROJECT NO. SS09-1830 / CIP NO. 50778 SEPTEMBER 23, 2011

ORIGINAL CONTRACT AMOUNT: \$539,053.88 CONTRACTOR: R.C.S. CONSTRUCTION, INC.

	DESCRIPTION		CURRENT	: :				
LINE ITEM		UNIT	CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
1	Mobilization	LS	1.00	\$37,000.00	\$37,000.00	1.00	\$37,000.00	\$0.00
2	Construction Staking	LS	1.00	\$7,800.00	\$7,800.00	1.00	\$7,800.00	\$0.00
3	AASHTO T-180 Soil Test	EA	1.00	\$142.00	\$142.00	1.00	\$142.00	\$0.00
4	Traffic Control Plan	LS	1.00	\$966.00	\$966.00	1.00	\$966.00	\$0.00
5	Traffic Control	LS	1.00	\$4,700.00	\$4,700.00	1.00	\$4,700.00	\$0.00
6	Incidental .	LS	1.00	\$10,800.00	\$10,800.00	1.00	\$10,800.00	\$0.00
7	Sawing, Asphalt Pavement	LF	1,605.00	\$0.96	\$1,540.80	1,605.00	\$1,540.80	\$0.00
8	Remove AC Pavement	SY	2,388.00	¦ \$2.60	\$6,208.80	2,388.00	\$6,208.80	\$0.00
9	Excavation, Rock (Trench)	CY	658.00	\$184.00	\$121,072.00	734.00	\$135,056.00	\$13,984.00
10	Imported Backfill Material (Trench)	CY	0.00	\$13.00	\$0.00	0.00	\$0.00	\$0.00
11	Type I Bedding Material	TON	0.00	\$18.00	\$0.00	0.00	\$0.00	\$0.00
12	Type II Foundation Material	TON	0.00	\$21.00	\$0.00	0.00	\$0.00	\$0.00
13	Type III Foundation Material	TON	0.00	\$21.00	\$0.00	0.00	\$0.00	\$0.00
14	Controlled Low Strength Backfill Material (Trench)	CY	8.00	\$120.00	\$960.00	8.00	\$960.00	\$0.00
15	8" PVC Sewer Main (0' - 6')	LF	47.00	\$22.00	\$1,034.00	47.00	\$1,034.00	\$0.00
16	8" PVC Sewer Main (6' - 8')	LF	254.00	\$22.00	\$5,588.00	254.00	\$5,588.00	\$0.00
17	8" PVC Sewer Main (8' - 10')	LF	384.00	\$22.00	\$8,448.00	384.00	\$8,448.00	\$0.00
18	8" PVC Sewer Main (10' - 12')	LF	217.00	\$22.00	\$4,774.00	217.00	\$4,774.00	\$0.00
19	8" PVC Sewer Main (12' - 14')	LF	195.00	\$24.00	\$4,680.00	195.00	\$4,680.00	\$0.00
20	8" PVC Sewer Main (14' - 16')	LF	256.00	\$25.00	\$6,400.00	256.00	\$6,400.00	\$0.00
21	8" PVC Sewer Main (16' - 18')	LF	133.00	\$26.00	\$3,458.00	133.00	\$3,458.00	\$0.00
22	4" PVC Sewer Service Line	LF	253.00	\$20.00	\$5,060.00	253.00	\$5,060.00	\$0.00
23	Drop Manhole, 48"	EA	2.00	\$3,200.00	\$6,400.00	2.00	\$6,400.00	\$0.00
24	Standard Manhole, 60"	EA	1.00	\$4,100.00	\$4,100.00	1.00	\$4,100.00	\$0.00
25	Standard Manhole, 48"	EA	6.00	\$2,700.00	\$16,200.00	6.00	\$16,200.00	\$0.00
26	Termination Manhole, 48"	EA	1.00	\$2,600.00	\$2,600.00	1.00	\$2,600.00	\$0.00

	DESCRIPTION		CURRENT					
LINE		UNIT	CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
27	Extra Manhole Depth, 48"	· VF	32.40	\$112.00	\$3,628.80	32.40	\$3,628.80	\$0.00
28	Extra Manhole Depth, 60"	VF	1.00	\$260.00	\$260.00	1.00	\$260.00	\$0.00
29	Connect New Sewer Service	EA	10.00	\$193.00	\$1,930.00	10.00	\$1,930.00	\$0.00
30	Connect To Existing Sewer Main	EA .	2.00	\$250.00	\$500.00	2.00	\$500.00	\$0.00
31	Remove Manhole	EA	1.00	\$800.00	\$800.00	1.00	\$800.00	\$0.00
· 32	Bypass Pumping	LS	0.00	\$4,700.00	\$0.00	0.00	\$0.00	\$0.00
33	AC Patching, Class G Type I PG64-28	TON	571.10	\$118.00	\$67,389.80	571.10	\$67,389.80	\$0.00
34	Aggregate Base Course 3/4"	TON	738.60	\$18.00	\$13,294.80	738.60	\$13,294.80	\$0.00
35	Remove PCC Driveway Pavement	SY	79.00	\$3.00	\$237.00	40.00	\$120.00	(\$117.00)
36	Remove Gravel Surfacing	SY	0.00	\$7.00	\$0.00	0.00	\$0.00	\$0.00
37	PCC Driveway Pavement, 6" Nonreinforced	SY	79.00	\$62.00	\$4,898.00	40.00	\$2,480.00	(\$2,418.00)
38	Gravel Surfacing, 6" Thick, Permanent	TON	136.00	\$18.00	\$2,448.00	136.00	\$2,448.00	\$0.00
39	Clearing and Grubbing	L\$	1.00	\$977.00	\$977.00	1.00	\$977.00	\$0.00
40	Topsoil, Stockpile & Replace	CY	30.00	\$5.00	\$150.00	68:00	\$340.00	\$190.00
41	Hauling & Placing Co-Compost	TON	0.00	\$47.00	\$0.00	0.00	\$0.00	\$0.00
42	Remove Tree	EA	0.00	\$600.00	\$0.00	0.00	\$0.00	\$0.00
43	Evergreen Tree (5')	EA	0.00	\$511.00	\$0.00	0.00	\$0.00	\$0.00
44	Seeding, Fertilizing, Mulching - Non- Irrigated Lawn Mix	SY	688.00	: \$1.70	\$1,169.60	2,302.80	\$3,914.76	\$2,745.16
45	Seeding, Road Ditch Mix	SY	173.00	\$1.70	\$294.10	582.50	\$990.25	\$696.15
46	Sodding	SY	117.00	\$6.00	\$702.00	179.00	\$1,074.00	\$372.00
47	Erosion Control and Water Pollution Control Plan	LS	1.00	\$570.00	\$570.00	1.00	\$570.00	\$0.00
48	Erosion Control and Water Pollution Control	LS	1.00	\$2,950.00	\$2,950.00	1.00	\$2,950.00	\$0.00
49	Erosion Control, Inlet Protection	EA	0.00	\$330.00	\$0.00	0.00	\$0.00	\$0.00
50	Rock Construction Entrance	TON	0.00	\$18.00	\$0.00	0.00	\$0.00	\$0.00
51	Erosion Control, Perimeter Control	LF	1,035.00	\$4.50	\$4,657.50	633.80	\$2,852.10	(\$1,805.40)
52	Remove Pipe Culvert	LF	48.00	\$12.00	\$576.00	48.00	\$576.00	\$0.00
53	12" CMP	LF	21.00	\$27.00	\$567.00	21.00	\$567.00	\$0.00
54	15" CMP	LF	0.00	\$31.00	\$0.00	0.00	\$0.00	\$0.00
55	15" CMP Flared End Section	EA	0.00	\$185.00	\$0.00	0.00	\$0.00	\$0.00

	DESCRIPTION		CURRENT					
LINE		UNIT	CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
56	Mobilization	LS	1.00	\$2,000.00	\$2,000.00	1.00	\$2,000.00	\$0.00
57	Construction Staking	LS	1.00	\$1,000.00	\$1,000.00	1.00	\$1,000.00	\$0.00
58	AASHTO T-180 Soil Test	EA	0.00	\$142.00	\$0.00	0.00	\$0.00	\$0.00
59	Traffic Control	LS .	1.00	\$284.00	\$284.00	1.00	\$284.00	\$0.00
60	Incidental	LS	1.00	\$1,400.00	\$1,400.00	1.00	\$1,400.00	\$0.00
61	Sawing, Asphalt Pavement	LF	234.00	\$0.96	\$224.64	234.00	\$224.64	\$0.00
62	Remove AC Pavement	SY	550.00	\$2.58	\$1,419.00	550.00	\$1,419.00	\$0.00
63	Excavation, Rock (Trench)	CY	203.00	\$184.00	\$37,352.00	203.00	\$37,352.00	\$0.00
64	Imported Backfill Material (Trench)	CY	0.00	\$13.00	\$0.00	0.00	\$0.00	\$0.00
65	Type I Bedding Material	TON	0.00	\$18.00	\$0.00	0.00	\$0.00	\$0.00
66	Type II Foundation Material	TON	0.00	\$21.00	\$0.00	0.00	\$0.00	\$0.00
67	Type III Foundation Material	TON	0.00	\$21.00	\$0.00	0.00	\$0.00	\$0.00
	Controlled Low Strength Backfill Material (Trench)	CY	0.00	\$120.00	\$0.00	0.00	\$0.00	\$0.00
69	8" PVC Sewer Main (8' - 10')	LF	41.00	\$22.00	\$902.00	41.00	\$902.00	\$0.00
70	8" PVC Sewer Main (10' - 12')	LF	291.00	\$22.00	\$6,402.00	291.00	\$6,402.00	\$0.00
71	8" PVC Sewer Main (12' - 14')	LF	148.00	\$24.00	\$3,552.00	148.00	\$3,552.00	\$0.00
72	4" PVC Sewer Service Line	LF	107.00	\$20.00	\$2,140.00	107.00	\$2,140.00	\$0.00
73	Standard Manhole, 48"	EA	2.00	\$2,765.00	\$5,530.00	2.00	\$5,530.00	\$0.00
74	Extra Manhole Depth, 48"	. VF	12.45	\$135.00	\$1,680.75	14.45	\$1,950.75	\$270.00
75	Connect New Sewer Service	EA	4.00	\$160.00	\$640.00	4.00	\$640.00	\$0.00
76	Connect To Existing Manhole	EA	1.00	\$243.00	\$243.00	1.00	\$243.00	\$0.00
77	AC Patching, Class G Type I PG64-28	TON	221.20	\$123.00	\$27,207.60	221.20	\$27,207.60	\$0.00
78	Aggregate Base Course 3/4"	TON	293.10	\$18.00	\$5,275.80	293.10	\$5,275.80	\$0.00
79	Clearing and Grubbing	LS	1.00	\$1,050.00	\$1,050.00	1.00	\$1,050.00	\$0.00
80	Topsoil, Stockpile & Replace	CY	25.00	\$8.00	\$200.00	25.00	\$200.00	\$0.00
81	Hauling & Placing Co-Compost	TON	0.00	· \$47.00	\$0.00	0.00	\$0.00	\$0.00
82	Seeding, Fertilizing, Mulching - Non- Irrigated Lawn Mix	SY	328.00	\$1.70	\$557.60	1,101.70	\$1,872.89	\$1,315.29
83	Erosion Control and Water Pollution Control	LS	1.00	\$1,270.00	\$1,270.00	1.00	\$1,270.00	\$0.00
84	Erosion Control, Inlet Protection	EA	1.00	\$330.00	\$330.00	1.00	\$330.00	\$0.00
85	Erosion Control, Perimeter Control	LF	195.00	\$4.00	\$780.00	195.00	\$780.00	\$0.00

	DESCRIPTION		CURRENT	1		A 11 4 M HAVE THE	AD WIGHT	
ITEM		UNIT	CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
86	Mobilization	LS	1.00	\$8,000.00	\$8,000.00	1.00	\$8,000.00	\$0.00
87	Construction Staking	LS	1.00	\$1,000.00	\$1,000.00	. 1.00	\$1,000.00	\$0.00
88	AASHTO T-180 Soil Test	EA	0.00	\$142.00	\$0.00	0.00	\$0.00	\$0.00
89	Traffic Control	LS	1.00	\$284.00	\$284.00	1.00	\$284.00	\$0.00
90	Incidental	LS	1.00	\$1,420.00	\$1,420.00	1.00	\$1,420.00	\$0.00
91	Sawing, Asphalt Pavement	LF	772:00	\$0.96	\$741.12	772.00	\$741.12	\$0.00
92	Remove AC Pavement	SY	929.00	\$2.60	\$2,415.40	929.00	\$2,415.40	\$0.00
93	Excavation, Rock (Trench)	CY	175.00	\$184.00	\$32,200.00	175.00	\$32,200.00	\$0.00
94	Imported Backfill Material (Trench)	CY	0.00	\$13.00	\$0.00	0.00	\$0.00	\$0.00
95	Type I Bedding Material	TON	0.00	\$18.00	\$0.00	0.00	\$0.00	\$0.00
96	Type II Foundation Material	TON	0.00	\$21.00	\$0.00	0.00	\$0.00	\$0.00
97	Type III Foundation Material	· TON	0.00	\$21.00	\$0.00	0.00	\$0.00	\$0.00
98	Controlled Low Strength Backfill Material (Trench)	CY	0.00	; \$120.00	\$0.00	0.00	\$0.00	\$0.00
99	8" PVC Sewer Main (0' - 6')	LF	163.00	\$23.00	\$3,749.00	163.00	\$3,749.00	\$0.00
100	8" PVC Sewer Main (6' - 8')	LF	332.00	\$23.00	\$7,636.00	332.00	\$7,636.00	\$0.00
101	8" PVC Sewer Main (8' - 10')	ĹF	68.00	.\$23.00	\$1,564.00	68.00	\$1,564.00	\$0.00
102	8" PVC Sewer Main (10' - 12')	LF	27.00	\$24.00	\$648.00	27.00	\$648.00	\$0.00
103	8" PVC Sewer Main (12' - 14')	LF	0.00	\$22.00	\$0.00	0.00	\$0.00	\$0.00
104	4" PVC Sewer Service Line	LF	165.00	\$20.00	\$3,300.00	165.00	\$3,300.00	\$0.00
105	Standard Manhole, 48"	EA	1.00	\$2,700.00	\$2,700.00	1.00	\$2,700.00	\$0.00
106	Termination Manhole, 48"	EA	1.00	\$2,600.00	\$2,600.00	1.00	\$2,600.00	\$0.00
107	Extra Manhole Depth, 48"	VF	7.00	\$135.00	\$945.00	7.00	\$945.00	\$0.00
108	Connect New Sewer Service	EA	6.00	\$150.00	\$900.00	6.00	\$900.00	\$0.00
109	Connect to Existing Manhole	EA	1.00	\$360.00	\$360.00	1.00	\$360.00	\$0.00
110	AC Patching, Class G Type I PG64-28	TON	290.50	\$123.00	\$35,731.50	290.50	\$35,731.50	\$0.00
111	Aggregate Base Course 3/4"	TON	493.00	\$18.00	\$8,874.00	493.00	\$8,874.00	\$0.00
112	Clearing and Grubbing	LS	1.00	\$1,050.00	\$1,050.00	1.00	\$1,050.00	\$0.00
113	Topsoil, Stockpile & Replace	CY	63.00	\$5.00	\$315.00	63.00	\$315.00	\$0.00
114	Hauling & Placing Co-Compost	TON	6.00	\$47.00	\$282.00	6.00	\$282.00	\$0.00
115	Seeding, Road Ditch Mix	SY	156.00	\$1,70	\$265.20	582.20	\$989.74	\$724.54
116	Sodding	SY	335.00	\$6.00	\$2,010.00	335.00	\$2,010.00	\$0.00

	DESCRIPTION		CURRENT					***
LINE		UNIT	CONTRACT QUANTITY	ÚNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
	Erosion Control and Water Pollution	<u> </u>		1				
117	Control	LS	1.00	\$1,460.00	\$1,460.00	1.00	\$1,460.00	. \$0.00
118	Erosion Control, Inlet Protection	EA	1.00	\$330.00	\$330.00	1.00	\$330.00	\$0.00
119	Erosion Control, Perimeter Control	LF	71.00	\$1.44	\$102.24	71.00	\$102.24	\$0.00
120	Mobilization	LS	1.00	\$4,500.00	\$4,500.00	1.00	\$4,500.00	\$0.00
121	Construction Staking	LS	1.00	\$633.00	\$633.00	1.00	\$633.00	\$0.00
122	AASHTO T-180 Soil Test	EA	0.00	\$142.00	\$0.00	0.00	\$0.00	\$0.00
123	Traffic Control	LS	1.00	\$284.00	\$284.00	1.00	\$284.00	\$0.00
124	Incidental	LS	1.00	\$400.00	\$400.00	1.00	\$400.00	\$0.00
125	Sawing, Asphalt Pavement	LF	289.00	\$0.96	\$277.44	289.00	\$277.44	\$0.00
126	Remove AC Pavement	SY	396.00	\$2.60	\$1,029.60	396.00	\$1,029.60	\$0.00
127	Excavation, Rock (Trench)	CY	176.00	\$184.00	\$32,384.00	176.00	\$32,384.00	\$0.00
128	Imported Backfill Material (Trench)	CY	0.00	\$13.00	\$0.00	0.00	\$0.00	\$0.00
129	Type I Bedding Material	TON	0.00	\$18.00	\$0.00	0.00	\$0.00	\$0.00
130	Type II Foundation Material	TON	0.00	\$21.00	\$0.00	0.00	\$0.00	\$0.00
131	Type III Foundation Material	TON	0.00	\$21.00	\$0.00	0.00	\$0.00	\$0.00
	Controlled Low Strength Backfill			i			•	
132	Material (Trench)	CY	0.00	1 \$120.00	\$0.00	0.00	\$0.00	\$0.00
133	8" PVC Sewer Main (12' - 14')	LF	131.00	\$23.00	\$3,013.00	131.00	\$3,013.00	\$0.00
134	8" PVC Sewer Main (14' - 16')	LF	145.00	\$25.00	\$3,625.00	145.00	\$3,625.00	\$0.00
135	4" PVC Sewer Service Line	LF	97.00	\$20.00	\$1,940.00	97.00	\$1,940.00	\$0.00
136	Termination Manhole, 48"	EA	1.00	\$2,600.00	\$2,600.00	1.00	\$2,600.00	\$0.00
137	Extra Manhole Depth, 48"	VF	. 7.90	\$134.00	\$1,058.60	7.90	\$1,058.60	\$0.00
138	Connect New Sewer Service	ΕA	4.00	\$230.00	\$920.00	. 4.00	\$920.00	\$0.00
139	Connect to Existing Manhole	EA	1.00	\$400.00	\$400.00	1.00	\$400.00	\$0.00
140	AC Patching, Class G Type I PG64-28	TON	230.80	\$123.00	\$28,388.40	230.80	\$28,388.40	\$0.00
141	Aggregate Base Course 3/4"	TON	210.80	\$18.00	\$3,794.40	210.80	\$3,794.40	\$0.00
142	Remove PCC Driveway Pavement	SY	79.00	\$2.60	\$205.40	79.00	\$205.40	\$0.00
143	PCC Driveway Pavement, 6"	SY	79.00	\$61.00	\$4,819.00	79.00	\$4,819.00	\$0.00
144	Clearing and Grubbing	LŞ	1.00	\$1,050.00	\$1,050.00	1.00	\$1,050.00	\$0.00
145	Topsoil, Stockpile & Replace	CY	21.00	\$5.50	\$115.50	21.00	\$115.50	\$0.00
146	Hauling & Placing Co-Compost	TON	2.00	\$1,780.00	\$3,560.00	2.00	\$3,560.00	\$0.00
147	Sodding	SY	126.00	\$6.00	\$756.00	369.10	\$2,214.60	\$1,458.60

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
148	Erosion Control and Water Pollution	LS	1.00	\$1,400.00	\$1,400.00	1.00	\$1,400.00	\$0.00
149	Erosion Control, Inlet Protection	EA	0.00	\$330.00	\$0.00	0.00	\$0.00	\$0.00
150	MH Base of deleted MH Restock	EA	0.00	\$506.44	\$0.00	1.00	\$506.44	\$506.44
151	Asphalt Price Deduct	TON	0.00	\$6.25	\$0.00	-389.60	(\$2,435.00)	(\$2,435.00)
	TOTAL				\$687,407.39		\$702,894.17	\$15,486.78

C.C.O. HISTORY INCRE.	ASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE :	\$687,407.39
	CCO #1	\$67,100.00	NET INCREASE/(DECREASE):	\$15,486.78
	CCO #2	\$81,253.51	ADJUSTED CONTRACT PRICE:	\$702,894.17
	CCO #3F	\$15,486.78	CHANGE TO DATE:	\$163,840.29
CONTRACTOR: RCS CO	Source Po Box 9337,	RC, SD 57709 342-3787	10/	3/1) DATE 3/11
PROJECT MANAGER: K	LARE SCHROEDER, P.E		10-2	DATE
CITY ENGINEER: DALE T	ECH, P.E. / L.S.			DATE
MAYOR: SAM KOOIKER				DATE
FINANCE: PAULINE SUM CONTRACT TIME CHANG		V CONTRACT TIME: Days		DATE

City Staff recommends approval of this Change Order #3F to RCS Construction for an increase of \$15,486.78 based on unit pricing with the following appropriation:

\$231,023.09	\$282,361.56	\$25,669.23	\$0.00		\$539,053.88
Sanitary Sewer	Sewer Grant	Sewer City	Water City		
0834	0834	0834	0934		
4380	4380	4380	4380		
0604	0604	0604	0602		
		1	`		
\$28,757.14	\$35,147.62	\$3,195.24			\$67,100.00
\$34,822.94	\$42,561.34	\$3,869.23			\$81,253.51
(\$114,603.17)	\$26,521.27	\$35,417.49	\$68,151.19		\$15,486.78
\$180,000.00	\$386,591.79	\$68,151.19	\$68,151.19	\$702,894.17	\$702,894.17
	Sanitary Sewer 0834 4380 0604 \$28,757.14 \$34,822.94 (\$114,603.17)	Sanitary Sewer Sewer Grant 0834 0834 4380 4380 0604 0604 \$28,757.14 \$35,147.62 \$34,822.94 \$42,561.34 (\$114,603.17) \$26,521.27	Sanitary Sewer Sewer Grant Sewer City 0834 0834 0834 4380 4380 4380 0604 0604 0604 \$28,757.14 \$35,147.62 \$3,195.24 \$34,822.94 \$42,561.34 \$3,869.23 (\$114,603.17) \$26,521.27 \$35,417.49	Sanitary Sewer Sewer Grant Sewer City Water City 0834 0834 0834 0934 4380 4380 4380 4380 0604 0604 0604 0602 \$28,757.14 \$35,147.62 \$3,195.24 \$34,822.94 \$42,561.34 \$3,869.23 (\$114,603.17) \$26,521.27 \$35,417.49 \$68,151.19	Sanitary Sewer Sewer Grant Sewer City Water City 0834 0834 0934 4380 4380 4380 0604 0604 0604 \$28,757.14 \$35,147.62 \$3,195.24 \$34,822.94 \$42,561.34 \$3,869.23 (\$114,603.17) \$26,521.27 \$35,417.49 \$68,151.19

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #3F CLIFF DRIVE SANITARY SEWER EXTENSION PROJECT NO. SS09-1830 / CIP NO. 50778 SEPTEMBER 23, 2011

ORIGINAL CONTRACT AMOUNT: \$539,053.88 CONTRACTOR: R.C.S. CONSTRUCTION, INC.

LINE ITEM	DESCRIPTION	REASON FOR CHANGE
9	Excavation, Rock (Trench)	There was more rock than shown on the geo technical report.
35	Remove PCC Driveway Pavement	Actual quantities needed to complete the project.
37	PCC Driveway Pavement, 6" Nonreinfo	Actual quantities needed to complete the project.
44	Seeding, Fertilizing, Mulching - Non-Irrig	The spoil piles were larger than anticipated with the rock excavation.
45	Seeding, Road Ditch Mix	The spoil piles were larger than anticipated with the rock excavation.
46	Sodding	The spoil piles were larger than anticipated with the rock excavation.
51	Erosion Control, Perimeter Control	Actual quantities needed to complete the project.
82	Seeding, Fertilizing, Mulching - Non-irri	The spoil piles were larger than anticipated with the rock excavation.
115	Seeding, Road Ditch Mix	The spoil piles were larger than anticipated with the rock excavation.
147	Sodding	The spoil piles were larger than anticipated with the rock excavation.
150	MH Base	One manhole base was eliminated that could not be used and was already built.
151	Asphalt Price Deduct	Due to lateness of the season, PG graded oil could not be obtained so substituted a lesser grade of oil.

PREPARED BY: Klare Schroeder, P.E.

DATE: September 23, 2011